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Tutorial 4 (Week 5) - Solutions

Question 1. For the sets A, B, C, D,

A=1{1,273, ..., 20},

B={2406, ...,20}
C = {x:x is a prime number between 4 and 20},
D = The set of first five positive odd numbers.

which of the following is true and which is false?
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Question 2. Let I = {0,1,2,3,4,5,6,7,8,9, 10}. Write down the following sets
explicitly:
a) {xelU|x =9}
{10}
by {xeUlx> 2}

{3,4,5,6,7,8,9,10}
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c){xeU|x=3kforsomekeZ};

{0,3,6,9}

d{x€eU|x=11k for somek € Z};

{0}

e) {x elU|(2<x<6)V(x =6k forsomek € Z)}
{3,4,5} U {0,6} ={0,3,4,5,6}
Question 3. Let A = {a,b,c,d,e}, B = {a,c,e,g}, C = {b,e, f,g}.
Verify the following:
a) AUB=EBuA
AUB ={a,b,c,d,e,g}= BUA
b) AnB=BnA
AnB={ace}l=BnA
c) AUBNC)=(AuB)n(AuC)
Au(BnC)={ab,cde}u({aceg}inibef, g}
={a,b,c,d,e}U{e g}=1{ab,cde g}
(AuByn(AuC)={abcdegtniabcdef, g}

={a,b,c,d, e, g}

Left hand side is same as right hand side.



Question 4. Let{ = {0,1,2,3,...,100}, here £ is the universal set and with the following sets
A=1{1273, ...,50},
B =1{0,2,4,6, ...,100},
C = {x:x is a prime number between 1 and 20},
D = The set of first 10 positive multiples of 10.

Investigate:
a) A—-B={123, ...,50}—-{0,2,4,6, ...,100} = {1,3,5, ...,49}

B—A={0,2,46, ..., 100} —{1,2,3, ...,50} = {0,52,54,56, ...,100}

b) A°={0,1,2,3,...,100} —{1,2,3, ...,50} ={0,51,52,53, ...,100}

B =1{0,1,2,3,..,100} — {0,2,4,6, ...,100} ={1,3,5, ...,99}

Dc=1{0,1,23,...,100} — {10,20, 30, ...,100}
={0,123,...,911,12,13,...19,21,22,23,...29,31,32,33,...39,41,42,43, ...,99}



